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PART A (English)

The name of Padamshri Mr. Kripal Singh Shekhawat is associated with which art form?
A. Blue Pottery B. Minakari
C. Talwarbazi/ Fencing D. Horse Riding

On the occasion of Rang Teras celebrated after thirteen days of Holi, this dance form is
performed in Mandal town:

A. Nahar B. Bindori

C. Chakri D. Ghoomar

Where are the Zinc smelters of Hindustan Zinc Limited installed in Rajasthan?
A. Chanderia, Agucha, Debari B. Debari, Agucha

C. Debari, Chanderia D. Chanderia, Agucha

Which district does not share a boundary with Haryana?

A. Hanumangarh B. Bikaner

C. Sikar D. Jaipur

Padamshri Miss Lutar who was dedicated for spreading women education worked in which
area of Rajasthan?

A. Udaipur B. Jaipur

C. Jodhpur D. Ajmer

Sheep and wool training institute is located in which city?

A. Beawer B. Jodhpur

C. Jaipur D. Bikaner

The winds responsible for winter rainfall (mavath) due to western disturbances are:
A. north-west winds B. north-east trade winds

C. south west winds D. south east trade winds

Which group of countries are on the same latitude as Rajasthan state?

A. Switzerland, Belgium, Sweden B. Thailand, Malaysia, Singapore
C. Algeria, Libya, Egypt D. Somalia, Ethopia, Ghana
"Languria™ is related to which goddess?

A. Sheetala Mata B. Ausian Mata

C. Shakambari Mata D. Kaila Devi

The first Adaptation Gap Report on Climate Change was recently released by

A. World Bank B. United Nations Development Organisation

C. United Nations Framework Convention D. United Nations Environment Programme
on Climate Change

World's first White Tiger Safari is set to come up in which state of India?

A. West Bengal B. Kerala

C. Madhya Pradesh D. Gujarat
World Fisheries Day was recently observed on?

A. 20 November B. 19 November
C. 22 November D. 21 November

Indian Space Research Organisation was recently conferred 'Space Pioneer Award' by the
National Space Society (NSS) of which country over the historic feat on successfully sending
a settalite to Mars in its very first attempt?

A. France B. European Union

C. China D. USA
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DRDO is building its new Missile Launch testing facility at which place
A. Mahanadi Delta complex B. Kaveri Delta complex

C. Krishna Delta complex D. Godavari Delta complex
Which country will host ICC T 20 World Cup in year 2016
A. Pakistan B. England

C. Australia D. India
Who amongst the following has been appointed as the new Foreign Secretary of India?
A. Alka Sirohi B. Dr. S. Jaishankar

C. Sujatha Singh D. Chokila Iyer

Which company has reported profit, which is highest ever by a public firm worldwide
A. Amazon B. Facebook

C. Apple Inc D. Flipkart
Name the NGO with which Nobel laureate Kailash Satyarthi is associated with?

A. Bandhua Mukti Morcha B. Bachpan Bachao Andolan

C. Mukti Caravan D. None of these

Average Cost Per Day Per Person(In Rs.) under MGNREGA in Rajasthan for Financial Year
2013-14 is:

A. 135.6 B. 120.3

C. 140.01 D. 150.20

Percentage of Disabled Persons Worked under MGNREGA in Rajasthan for Financial Year
2013-14 is:

A. 15 B. 2.2

C. 0.06 D. 0.10

Tasks to be performed under MGNREGA should be using

A. Manual Labour & not Machines B. Manual Labour & Machines
C. Only Machines D. None of these

FORTRAN is

A. File Translation B. Format Translation

C. Formula Translation D. Floppy Translation

Computer instructions written with the use of English words instead of binary machine
code is called

A. Mnemonics B. Symbolic code

C. Gray codes D. Opcode

To store a file having 20 MB size, which of the following can't be used?
A. Floppy disk B. CD

C. DVD D. Pendrive

In a document you want to insert the equation AX>+BX+C=0. In this mathematical
expression to type "2'" which option shall be used?

A. Insert Clipart B. Subscript

C. Superscript D. Italics Style

Choose the correct alternative that will continue the same pattern and fill in the blank spaces.
2,1,(172), (1/4),

A. (173) B. (1/8)

C. (2/8) D. (1/16)
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A is twice as good a workman as B and together they finish a piece of work in 18 days. In
how many days will A alone finish the work?

A. 31 days B. 25 days

C. 27 days D. 29 days

If BRASS is coded as 13566 then SIR may be coded as

A. 623 B. 315

C. 536 D. 420

The average of three numbers is 15 what is two times the sum of three numbers?

A. 30 B. 45

C. 90 D. 120

At the age of 10 days, a baby elephant eats 5 toffees. From that age onwards, its appetite
grows and each day it eats twice the number of toffees it ate the previous day. How many
toffees will the baby elephant eat at the age of 14 days?

A. 32 B. 80

C. 92 D. 112

P, Q and R start at the same time in the same direction to run around a circular stadium. P

completes a round in 252 seconds, Q in 308 seconds and R in 198 seconds, all starting at the
same point. After what time will they meet again at the starting point?

A. 36 minutes 12 seconds B. 40 minutes 36 seconds

C. 42 minutes D. 46 minutes 12 seconds

In a group of 20 singers and 40 dancers, 20% of the singers are less than 25 years old, and
40% of the entire group are less than 25 years old. What percent of the dancers are less than
25 years old?

A. 30 B. 45

C. 50 D. 70

How many minutes will it take to completely fill a water tank with a capacity of 3750 cubic
meters if the water is being pumped into the tank at the rate of 800 cubic metres per minute
and is being drained out of the tank at the rate of 300 cubic metres per minute?

A. 4 min. 36 sec B. 7 minutes

C. 7 min. 30 sec. D. 8 minutes

Madhulika made a number stage; pattern has been followed in it.
5 8
| 11 [19] 30 |
149 [79] 2 | 207
What number should come into the blank space?

A. 121 B. 125

C. 128 D. 134

Tick the correct option: The cowherd was watching his of cattle grazing in
the forest.

A. flock B. Herd

C.swarm D.pack

Fill the blanks with appropriate word: The bank is five miles from here.

A. near B. nearer

C. nearest D. most near

There are many obscurants in today's world. An obscurant is a person
A. Who is opponent of inquiry and reforms B. Who is deeply materialisic
C. Who has vast experience in a field D. who is obscure
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A. JO|E B. &
C. d9sH D. wawr
Q.39 T 9IGd TROMd €, 9 SREd 78l | X@ifhd |9aH v & S W forfRay |
A. gEvarEd HIAH B. Gdgaras waaH
C. feguamas =M™ D. facmamas |adam
Q.40 =1 & 39 @I o wW@rifds B B | aa & Nifdha e BT Hell We 8-
A. fddaras B. sifearas
C. 9rgaras D. sHarm=®
Part A (Hindi)
Q.1 U=l qurel Ry A@ad &1 T 59 dell A 27
A, = Ul B. #H®HRI
C. deldrR qrofl D. gsdand
Q.2 Bl & tRE Al 9re T IR W AvSH B H g T (AT ST 8-
A. TR B. fa=R
C. =H D. ¥R
Q3 fEgwm RN fafcs, STAR & [N Wieex oA H $al Rerd €72
A. TR, F[E, <A B. TORI, 3R
C. <9R), =eRan D. @RAT, FpET
Q.4  =Rarm & A I e ftern e 87?
A. BIHMTS B. dIBR
C. ¥rax D. SRYR
Q.5  Hfeer Rem & waR & forv WAt o=l A oex &1 ®rd & o |
A. STIR B. SRR
C. SIEYR D. 3R
Q.6 IS T T UfNeTr R Pal Rerd 872
A. @R B. SEQR
C. SR D. dI&TR
Q.7  ufdwl faeiw | At # B arel auf (Arae) & foy HIFRA Y g RmieR 2l 872
A. SR uf¥Edl ga+ B. SR gdf @muiRe ga-
C. <fror gf¥erft g+ D. zfaro gdf @muRe ga-
Q.8 U W S el W Rerd €, R W ISR g9 g
A. WeoRds, dfesad, Wred B. Tgcivs, HellRr, RITQR
C. 3rconRar, <ifear, fast D. Amrferar, genfua, e
Q9 aiRar &1 Hey fHa <dl | 22
A. @fider Ar B. iRyl Arar
C. IMHHRI AT D. doradr



Q.10 SieEry uRed™ WR Ugel g 10 Rurd gt & H SRy @1 -

A. fawg 9% gm B. Wg@ T A Ao gRT
C. Seary uRadd R Hga I HHdD D. AYHR A YR HRIBH §RT
P gRT
Q.11  fIeg o Yo Iwg 919 AHR IR & 69 I59 § o & folg IR 82
A. UR¥em FTe B. axd
C. ¥4 Ua¥l D. ORI
Q.12 =« & H fIvg vy gy w9 1ar?
A. 20 TR B. 19 AR
C. 22 FdsR D. 21 AdeR

Q.13 uRAIT SicRer SIIHeT WS Bl 8ol & H U+ YoH YA H & Hl U8 W Tb SUUE bl
AHeAdYad Woi & VRIS $ed g fbd <9 &1 ed W WiRAse! (TUded) gRT |
JRIFRR REBR A G fBar T en?

A. %I B. WA HY
C. =4 D. HYad oY IR
Q.14 SRS fbd M W Iy 78 HTge Wi gfawm §r 87 87
A. HBMQ! Soel DiFeldy B. BRI Seel DHiFeidd
C. DU Sl DIFidd D. el $eel HiFelad
Q.15 AT < a9 2016 # MSARN T 20 Tos HY BT HSAAHT BRT?
A. Ui B. STivs
C. Sifeferan D. 9Rd
Q.16 fr=fafad # & ®I Ra & =Y fa<w Al & w9 § g & T 87
A. 3@ RRE B. i UH. SRIRER
C. goier s D. difdar @R
Q.17 T&d e 7 U= o &1 gz &, ST b fazg # anfl g fbed ot wrdsifie dee b
JeaaH 8?2
A. 3T B. wUg®
C. UUd 5% D. fiausre
Q.18 AT w=il REBR o detrer Famedf &9 golsl 4 I 82
A, 9garm gfaa =t B. F9UT g9l ffale
C. g orai D. ST 94 BIg &
Q.19 IoReE H HAAN @& wiid fawciid 9 2013—14 & forg ufer wafaa ufd fo sivag amra (Suat
) 8-
A. 1356 B. 1203
C. 140.01 D. 150.20

Q.20 fa<ia ad 2013—14 H HAX & 8 oRAM H Fgrerisri &1 gfcrerd 8-

A 15 B. 22

C. 0.06 D. 0.10
Q21 #INM & Ted B e & fory W fpar S anfay—

A. Hgerel =M ud Wl e B. 93l s qd welH

C. @aa A= D. ST ¥ ®I3 &
Q22 RS &

A. BIgd CIeH B. ®BRAT gAY

C. B gFaeeH D. Tl greied
Q.23 dET wYF $IS & I W ST ARl B TN A oy Frger e FEan 8-

A. FA—fa== (Mnemonics) B. UdaIAd BIs

C. ¥ &S D. 3ifudls (Opcode)
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T SIS H MY FHHRT AX+BX+C=0 Aftafera oxar o &1 39 Ry affeafed #
fameg 2" T8y B @ oy S SYANT fhar STuem—
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A. (1/3) B. (1/8)
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T 4§ AT 3BT FHARI &, FI AP T BRI $I 18 fa § f F=xd 2| U 3dbell I9 B

Bl fha e 9 w1 dvm?

A. 31 faA B. 25 fad

C. 27 f&m D. 29 &

Ifd BRASS @1 ®T€ # 13566 forar am €, ar SIR &1 & faar Sgen?

A. 623 B. 315

C. 536 D. 420

A AR=mell BT A 15 ©, <Al ARl & AT BT AT R 8?

A. 30 B. 45

C. 90 D. 120

TE Bl &1 g=d1 10 T @1 39 # 5 W] WM 8, SH & AR—AT SHO! & 91 W TS A
<Ifhal 1 T ygel fas @Rl il &1 g1 81 Il & | 81l &1 aedr 14 & &1 39 o fdhai
ST @rIT?

A. 32 B. 80
C. 92 D. 112
9 oY v 3R T T ST H U B faur A Us & 9y W S Yo bR § | W W

252 HHUS H, F 308 HHUS Td 3R 198 HHUS H GRT BT 2 | T ol favg, R
T 918 fAel:

A. 36 e 12 d@vs B. 40 fi9e 36 d®wvs

C. 42 fo9e D. 46 fade 12 dAovs

20 TG T 40 Jadl & Fu H 20 URTT TRIH 25 94 A HH IH & © 3R YR YU H I 40
AfreTd Few 25 99 W HH SH B 2| Jadbl § A 25 9§ G HH $ B IS T

A. 30 B. 45
C. 50 D. 70
3750 Ffde HIe & dTel Sob Dl PRI dRE ¥R H b1 A7 T IS 800 Fgfdeh Hiex ufel
e @1 &% & U 9RT ST @1 ® Ud 300 agfde HWiex ufd fiee @) ) 9§ urh fed <@ @
A. 4 e 36 ddve B. 7 fA e
C. 7 fFe 30 dpvs D. 8 fime
FfrdT o v TR Ha g9 forad e e @1 arae faar
5 8

| 11 [19] 30 |
149179 ] 2 | 207 |
Rad w9 W ST dm mefi?
A. 121 B. 125
C. 128 D. 134
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Tick the correct option: The cowherd was watching his of cattle grazing in
the forest.

A. Flock B. herd

C.swarm D.pack

Fill the blanks with appropriate word: The bank is five miles from here.

A. Near B. nearer

C. nearest D. most near

There are many obscurants in today's world. An obscurant is a person

A. Who is opponent of inquiry and B. Who is deeply materialisic
reforms
C. Who has vast experience in a field D. who is obscure

BAR <¥ & 4R RUTEl 99 & ] afera oF & oy |ed dUR 8d 21

qIRI BT WGifbd 373 HIAT BRB 37

A. 3R B. &R

C. dus™ D. dE

S 9Tee TR 8, I SRd T8 | N@ifhd 9dqam wes &7 3fa 9 fafag |
A. JRYAEd FAAH B. Hegdrad Fa_M

C. freagdras adaH D. facare gd=m

T & W B Fer w@mifde B B ard & I@ifhd s BT sl WE 8-
A. Sfdaaras B. <Tfuaras

C. Ygdrad D. Sadrad
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PART B

The maximum bending moment in a beam occurs where
A. Shear force is minimum B. Shear force is maximum
C. Shear force changes sign D. Deflection is zero

The rate of change of shear force is
A. Bending Moment B. Deflection
C. Slope D. Loading

A Rectangular beam of width 150 mm and depth 300 mm is subjected to a transverse shear
of 120 kN. The maximum shear stress in the section is

A. 2.67 MPa B. 4 MPa

C. 8§ MPa D. 5.34 MPa

If a rectangular body of uniform cross sectional area is subjected to tensile stress ¢ , then
the maximum shear stress and its inclination with direction of load are

A. oand45° B. o and 60°

C. o/2 and 45° D. o©/2 and 60°

A cantilever beam of span L is carrying a uniformly distributed load of intensity w/unit
length on the entire span. The deflection at the free end is given by

A wlL* B. wL!
6El 8EI
C. 5wL! D. wL*
384El 48ElI

A thin spherical shell of diameter d and thickness t is subjected to internal pressure p, the
tensile stress in the shell will be

A P B. Pd
2t 4t
c. Pt p. Pt
2d 4d
The influence line diagrams for redundant structures can be obtained using
A. Castigliano’s Theorem B. Principle of Parity
C. Superposition Principle D. Muller Breslau’s Principle

If a column of length “L” is restrained against horizontal and vertical displacement and is
free to rotate at both ends, its equivalent length will be

A. 2L B. L

C. 05L D. 0.707L

The carry over factor for a beam whose far end is guided roller is
A. 12 B. 0

C. 1 D. -1

According to Eddy’s theorem, the bending moment at any point in an arch is proportional to
A. Vertical ordinate of linear arch

B. Vertical ordinate of actual arch

C. Intercept between the actual arch and linear arch

D. Intercept between the linear arch and funicular polygon

The degree of kinematic indeterminacy induced due to insertion of a hinge in a plane frame is
A. 0 B. 1
C. 2 D. 3
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The moment required to rotate the near end of a prismatic beam through a unit angle
without translation, when the far end is pinned is given by

A. 3EI/L B. 4EI/L

C. 2EI/L D. EI/L

The ordinate of influence line diagram for bending moment always have a dimension of
A. Force B. Length

C. Force x length D. Force / Length

The fixed end support in a real beam becomes -------------- in conjugate beam

A. Free support B. Roller support

C. Fixed support D. Pined support

Increased fineness of cement
A. Affects only early development of B. Affects only ultimate strength

strength
C. Both (a) and (b) D. Does not affect the strength
Lap length in compression shall not be less than ----------- if ¢ is diameter of bar
A 15¢ B. 204
C. 24¢ D. 30 ¢
For very large span bridge structures, it is economical to use
A. RCC Beams B. Prestressed beams
C. Steel girders D. Cables stayed
In spherical dome the hoop stress due concentrated load at the crown is
A. Compressive B. Tensile
C. Partly compressive partly tensile D. Zero everywhere

In limit state method, the limiting value of the depth of neutral axis using Fe 415 grade of
steel is

A. 0.53d B. 0.48d

C. 046d D. 0.43d

The doubly reinforced beam is less economical than singly reinforced beam because
A. Tensile steel required is more than balanced section

B. Shear reinforcement is more

C. Concrete remains under utilized

D. Compressive steel remains under utilized

The slenderness ratio of lacing bars should not exceed

A. 100 B. 120

C. 145 D. 180

Forces acting on web splice of a plate girder are

A. Axial force B. Axial and bending
C. Shear and axial force D. Shear and bending
The number of seismic zones in which our country has been divided as per IS:1893-2000
A 3 B. 4

C. 5 D. 6

The ratio of plastic section modulus to elastic section modulus

A. Always greater than 1 B. Always less than 1
C. Isequaltol D. Can be less than 1
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In a gusseted base, when the end of the column is machined for complete bearing on the
plate, then axial load is assumed to be transferred to the base plate

A. 100% through direct bearing B. 100% through fastening

C. 75% through direct bearing and 25% D. 50% through direct bearing and 50%
through fastening through fastening

Which of the following soils has more plasticity index

A. Clay B. Sand

C. Silt D. Gravel

Coarse grained soils are best compacted by

A. Drum roller B. Vibrator roller

C. Rubber tyre roller D. Sheep foot roller

Shear strength of the soil is

A. Directly proportional to angle of internal friction of soil
B. Inversely proportional to angle of internal friction of soil
C. Decrease with increase in normal stress

D. Increase with increase in normal stress

Allowable bearing pressure for a foundation depends upon
A. Allowable settlement only B. Ultimate bearing capacity of soil
C. Both (a) and (b) D. None of the above

Hydrostatic pressure on phreatic line within a dam section is
A. Less than atmospheric pressure

B. Equal to atmospheric pressure

C. Greater than atmospheric pressure

D. Varies along phreatic line

Undisturbed sample may be obtained by
A. Thin walled sampler B. Thick walled sampler
C. Direct excavation D. Auger

The slope of e-log p curve for soil mass gives
A. Coefficient of permeability k B. Coefficient of consolidation C,
C. Compression index C. D. Coefficient of volume compressibility my

In a flow net diagram, the length of the flowline in last square is 2 m, the total head loss is
18 m and the number of potential drops is 12. The value of exit gradient is

A. 3.00 B. 133
C. 0.75 D. 0.33
According to Rankine analysis minimum depth of the foundation is equal to
Al q[l—singbjz B. q(l+sin¢j2
y\1+sing y\1—sing
C q[l—singﬁ) D. q(l—singﬁ}
y\l+sing y\1+sing

Rise in water table in cohesionless soils upto ground surface reduces net ultimate bearing
capacity approximately by

A. 10% B. 25%

C. 30% D. 50 %

Bishop’s method of stability analysis

Is more conservative

Neglects effect of forces acting on sides of slices
Assumes slip surface on an arc of a circle.

All of above

Cowx>

10
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Most of the rainfall in India comes through
A. Frontal cyclonic precipitation B. Non-frontal cyclonic precipitation
C. Convective precipitation D. Orographic precipitation

Double mass curve technique is followed to

A. check the consistency of raingauge records

B. find the average rainfall over a number of years
C. find the number of raingauges required

D. estimate the missing precipitation values.

If absolutely no error is allowed in measurement of mean rainfall in a catchment, the
optimum number of rain gauge stations required, would be

A. Zero B. Infinite

C. Any value D. one per 100 m?

A rainfall hyetograph is a graph between

A. Cumulative rainfall and time B. Rainfall intensity and time

C. Rainfall depth and area D. Rainfall intensity and cumulative rainfall
According to Kennedy’s theory the silt transporting power of a canal is proportional to
A. V? B. V¥

C. v D. V*?

The u/s face of an earthen dam is

A. an equipotential line B. aflow line

C. a cubic parabolic D. a phreatic line

A silt excluder is constructed in the river bed

A. in front of head regulator

B. at some distance away from the head regulator
C. at the head works only

D. at sharp turns

If duty (D) is 1428 hectare/cumec and base period (B) is 120 days for an irrigated crop,
then delta (A) in meters is given by

A. 102.8 B. 0.73

C. 138 D. 0.01

In laminar flow through a round tube, the discharge varies

A. Linearly as viscosity B. As square of the radius
C. Inversely as the pressure drop D. Inversely as the viscosity

In plane Poiseuille flow, the pressure gradient dp/dx is
A. Equal to zero B. Always -ve
C. Always +ve D. May be -ve or +ve

A pipeline 20 cm in diameter, 100 m long, conveys oil of specific gravity 0.90 and
viscosity 0.15 Ns/m?. If the velocity of oil is 1.5 m/s, the pressure difference at the two
ends of the pipeline is

A.3600 N/m’ B. 5400 N/m’

C. 18000 N/m? D. 36000 N/m?

The road geometric in India is designed for the
A. 30™ highest hourly traffic volume B. 50" highest hourly traffic volume
C. 75™ highest hourly traffic volume D. 98™ highest hourly traffic volume

In the context of flexible pavement design, the ratio of contact pressure to tyre pressure is
called the rigidity factor. This factor is less than unity when the tyre pressure is

A. Less than 0.56 N/mm? B. Equal to 0.56 N/mm?

C. Equal to 0.70 N/mm? D. More than 0.70 N/mm?
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Q.90

Q.91

Q.92

Q.93

Q.94

Q.95

Q.96

Q.97

Q.98

Q.99

Q.100

Grade compensation is not necessary for gradients flatter than
A 1% B. 2%
C. 3% D. 4%

Transition curves are provided on the approach to horizontal curves in order to
A. Increase jerk to allowable levels

B. Minimize the length of the horizontal curve

C. Simplify the layout and construction of horizontal curve

D. Reduce jerk to allowable levels

As per IRC, the maximum possible width of a vehicle will be
A.2.44m B. 3.44m
C. 1.88m D.40m

Bankelman beam deflection method is used for design of
A. Rigid overlay on rigid pavement B. Flexible overlay on flexible pavement
C. Flexible overlay on rigid pavement D. Rigid overlay on flexible pavement

The minimum value of CBR (%) required for granular sub-base as per Ministry of
Surface Transport (MOST) specification is

A. 5 B. 10

C. 15 D. 20

The distribution system in water supplies is designed on the basis of
A. Average daily demand B. Peak hourly demand
C. Coincident draft D. Greater of (b) and (c)
The turbidity which can be seen with naked eye is of the order of

A. 1]t B. 2Jtu

C. 3Jtu D. 5Jtu

The colour of water for domestic supplies, on standard platinum cobalt scale, should not
exceed

A. 0—5ppm B. 5-10ppm

C. 10-20 ppm D. 20-50 ppm

Consider the following condition

1. Volume of mixed liquor suspended solids 2700 mg/1
2. Settled volume 270 ml

Based on this data, the sludge volume index would be

A. 2700 B. 100

C. 270 D. 27

The growth of algae is useful in

A. Sedimentation tank B. Slow sand filter

C. Oxidation pond D. Sludge digestion tank

Sewage sickness occurs when

A. Sewage contains pathogenic organisms

B. Sewage enters the water supply system

C. Sewers get clogged due to accumulations of solids

D. Voids of soils get clogged due to continuous application of sewage on a piece of land

~—-END----

12



